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SOUHRN — TAYLORUV POLYNOM

Nize uvedené piiklady se objevily ve zkouskovych testech v minulych letech.

Zadani
fl@)y=2*+2-V1-x
f@)=(z—1)-Inz+1
f@)=(x—2) Iz —3)+1
f(z) =2% —In(2z — 1)
f@)=(z+2) In(z—-3) -1
fl@)=2% —V3—2z
fl@)y=2"-V2 -2z

flz) = 2% —x + 2%+

f(z) = 2* — 22 + 1 + cos(3x)

f(x)=%+\/3—|—2x

f(x) =2® +3+e* !

f(x) = cos2z + \/E~sing

1
f(z) = 3 -sin 2z + cos

a=0>0
a=1
a—4
a—=1
a—=4
a=1
a=1
a=——
a=2~0
a=2~0
a—=1
1
a= —
2
a=—1
1
a= —
2
T
a = —
2
T
a—= —
4

1

Vysledky
1 9 1
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f(z) =sinz + 2 - cos 2z a= % 17v"  Nepocitan
flz)=v2: 27 —In (g) a=2 18v" Nepoditan
f(z) =3 +2In(92% — 1) a=0 19v" Nepoditan
f(z) =sin (a: + g) + cos (Qx - %) a=0 20v" Nepoditan
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f(z) = p +1In (5) a=2 21v° Nepoéitan



